Selection pp — 88,8 — bbx}  pp —8g,8 — ttx! Pp — 88,8 — qAx; PP — 88,8 — qqVX}
mg = 1500 GeV mg = 1500 GeV mg = 1400 GeV mg = 1400 GeV
mgo = 100 GeV mgo = 100 GeV mgo = 100 GeV mgo = 100 GeV

Nit > 3 99.86 & 0.05 100.00 £ 0.01 99.78 £ 0.04 99.99+ 0.02

Hy > 300 GeV 99.86 + 0.05 100.00 4 0.01 99.78 4 0.04 99.99 4 0.02

HIss > 300 GeV 80.18 0.41 76.67 & 0.29 79.83 4+ 0.28 73.26+ 0.34
Nuon = 0 79.66 & 0.41 48.5340.35 79.75 4 0.28 61.374 0.38
(o) — () 79.46 & 0.41 47.7240.35 79.68 & 0.28 61.074 0.38
Noteetron = 0 79.00 & 0.41 30.50 & 0.32 79.3140.28 49.754 0.39
{electron)  — 78.47 4 0.42 29.55 4 0.32 78.96 & 0.28 49.054 0.39
(hadron)  — 0 77.76 + 0.42 28.16 =+ 0.31 78.110.29 47.46+ 0.39
A gpmice 5, > 0.5 76.45 4 0.43 27.56 4 0.31 76.70 4 0.29 46.374 0.39
Adymice j, > 0.5 69.00 & 0.47 25.07 & 0.30 69.64 4 0.32 41.974 0.38
Adppise j, > 0.3 63.69 & 0.49 23.50 & 0.29 64.24 +0.33 39.324 0.38
A ppmiss j, > 0.3 58.35 4 0.50 21.92 40.29 59.20 & 0.34 36.90 4+ 0.37
Event cleaning 58.06 = 0.50 21.86 4 0.29 58.92 4 0.34 36.734 0.37




